HED  Bysoolo

FORM U-1A MANUFACTURER’'S DATA REPORT FOR PRESSURE VESSELS
(Alternative Form for Single Chamber, Completely Shop or Field Fabricated Vessels Only)
As Required by the Provisions of the ASME Boiler and Pressure Vessel Code Rules, Section VHI, Division 1

1. Manufactured and certified by Enerflex Lid.. 10121 Barlow Trail NE. Calgary, Alberta, T34 3C6

{Name and address of manufacturer}

Husky Qil Operations Ltd.. Box 4490, Stn. D Calgary Alberta, T2P 3G7

2. Manufactured for
{Name and address of purchaser)
3. Location of installation McMullen TCP,  LSD: 03-35-078--25 W4
[Name and address} “
4. Type Vertical 12518236 _ V2200213 = _12517-V402 Rev.5 - 2010
{Horizontat or vertical, tank} {Manutacturer's serial Number) {CRN} {Drawing Number} {National Board number} {Year buift}

5. The chemlcal and physical properties of all parts meet the requirements of material specifications of the ASME BOILER AND PRESSURE VESSEL

CODE. The design, constructlon, and workmanship conform to ASME Rules, Section VIil, Division 1 2007
Year
10 2009 — -—
[Addenda {date}] - {Code Cass numbers) [Special service per UG-120{d)}
6. Shell: SA-516-70N 0.625" 0.0625" 4'-9" 8'-8"8IS
{Material spec. number, grade) {Nominal. thickness} (Corr. allow.) {inner diameter) {Length [overali}]
7. Seams: Type 1 Full 1.0 - o Type 1 Spot 0.70
[Long.iwelded, dbl., sngl., fap, buttl]  [R.T. {spot or fulli} {ESf., %) (H.T. temp.} (Time,fw} [GHih,{welded, dbi., sngi- fap, bUB]  (R.T. (spot EH., %)  No. of courses
or full}}
8. Heads: {a) Material SA-516-70N {b) Material SA-516-70N
{Spec. no., grade} {Spec. no., grade)
Location {Top, Minimum Corrosion Crown Knuckle Elliptical Conicat Hemispherical Flat Side to Pressure
Bottom, Ends} Thickness Aliowance Radius Radius Ratio Apex Angle Radius Diamet {Convex or Concave}
@ Top 0.5625" | 0.0625" - —— SE 2:1 — - — Concave
b} Bottom 0.5625" | 0.0625" - -— SE 21 — - - Concave

i removable, bolts used (describe other fastenings}
[Material spec. number, grade, size, number}

9. MAWP 350 PSIG — at max. temp. 250°F -—
(Internal} {External} finternal} {External}
Min. design metal temp. -20°F at 350 PSIG . Hydro., pneu., or comb. test pressure 455 PSIG
Proof Test e
10. Nozzles, inspection, and safety valve openings:
Purpose Diameter ; Nominat Reinforcement How .
{Inlet, Outlet, Drain} Number or Size Typs Material Thickness Material Attached Location
SEE ATTACHED U4 FORM )
11. Supports: Skirt No Lugs 2 Legs —— Other __Support Lugs _ Attached Head/Shell & Welded
{¥es or no} {Number} {Number} {Describe} {Where and how}

12. Remarks: Manufacturer’s Partial Data Reports property identified and signed by Commissioned fnspectors have been furnished fer the following

{Name of part, item number, Manufacturer’s name and Identifying stamp}

Vessel Type: anary Qil Separator  Construction Drawing: 12518-V402 Sht. 1, 2 Rev.5
lmpact testing: exempt, per UG-20(f)(1-5), UCS-66(c) Volume: 128 Cu. Ft.
Relief Valve installed on piping in accordance with UG-125
18" CL300 RFBL Fiange SA-105N Studs: 1 1/4"@ 8" Lg. SA-193-B7 Qty. 24, Nuts: 1 1/4"@ SA-194-2H Qty. 48
2 - 4" CL300 Hub Flange RF SA-105N Studs: 3/4'@ 4 1/2" Lg. SA-193-B7 Qty. 16, Nuts: 3/4"@ SA-194-2H Qly. 32
8 - 2" CL300 RFBL SA-105N Studs: 5/8"@ 3 1/2" Lg. SA-193-B7 Qty. 56, Nuts: 5/8"0 SA-194-2H Qty. 112
2" CL300 RF Hub Flange SA-105N Studs: 5/8"@ 3 1/2" Lg. SA-193-B7 Qty. 8, Nuts: 5/8"@ S5A-194-2H Qty. 16

items of the report:

CERTIFICATE OF SHOP/FIELD COMPLIANCE

We certify that the statements made in this report are correct and that all details of design, material, construction, and workmanéhip of this vessel
conform to the ASME BOILER AND PRESSURE VESSEL CODE, Section Vi, Division 1. *‘U’" Certificate of Authorization Number 3_3 658

expires November 26, 2011 . , K
Co. name Enerflex Ltd. Signed Q&M/\Aﬁ’&/\
ire)

bate 1 QOct 2010
{Manufacturer}
CERTIFICATE OF SHOP/FIELD iINSPECTION
Vessel constructed by Enerflex Lid. at Calgary. Alberta, Canada .
1, the undersigned, holding a valid commission issued by the National Board of Boiler and Pressure Vessel Inspectors and/or the State or Province of

Alberta and employed by ABSA

-

have inspected the component described in this Manufacturer’s Data Report on OC T ﬂ 4 7mﬂ and state that,
to the best of my knowledge and belief, the Manufacturer has constructed this pressure vessel in accordance with ASME BOILER AND PRESSURE
VESSEL CODE, Section Vili, Division 1. By signing this certificate neither the Inspector nor his/her employer makes any warranty, expressed or
implied, conceming the pressure vessel descri s Manufacturer’s Data Report. Furthermore, neither the Inspector nor his/her employer

shall be Jlable in a nner for any personal operty damage or a loss of any kind arising from or gpnnecte w,t isjmspection.
A %'ﬁf Loz Commissions /;Z'

Date CT ﬂ Signed
[National Board {incl. endorsements), State, Province and Number}

(Authorized inspector}




B 00 o

‘ FORM U-4 MANUFACTURER'S DATA REPORT SUPPLEMENTARY SHEET
As Required by the Provisions of the ASME Boiler and Pressure Vessel Code Rules, Section Vill, Division 1

Enerflex Lid.. 10121 Barlow Trail NE. Calgary, Alberta, T3J 3C6

{Name and address of Manufacturer)

Husky Oil Operations Lid.. Box 4990, Stn. D Calaary Alberta, T2P 3G7

{Name and address of Purchaser)

McMullen TCP,  LSD: 03-35-078--25 W4

{Name and address)

1. Manufactured and certified by

2. Manufactured for

3. Location of Instaltation

4. Type: Vertical Primary Oil Separator 12518236
{Horizontal, vertical, or sphere} {Tank, soparator, heat exch., otc.) (Manufacturers satial Number)
V2200213 12517-V402 Rev.5 - o 2010
(CRN) (Drawing Number) (National Board. Number} {Yoar bult)
Remarks
Purpose
Data Report {inlet, Qutlet, | Number | Diameter Type Material Nomina} Reinforcement How Location
Jtem Number Drain} or Size Thickness Material Attached
10-N1 Infet 1 10"NPS | CL300 RFWN SA-105N/SA-106B 0.593" SA-516-70N | UW16.1{c} Sheit
10-N2 Outlet 1 10"NPS | CL300 RFWN SA-105N/SA-106B 0.593" | SA-516-70N | UW16.1(c} |  Shell
10-N3 Manway 1 18"NPS | CL300 RFWN - SA-105N/SA-106B 0.937" SA-516-70N | UW16.1(c) Head
10-N4 Oil Qutlet 1 3'"NPS | GL300 RFWN |SA-105N/SA-234-WPB/SA-1068 | 0.600" — Uw16.1(c) Head
10-N5 PSV 1 3"NPS | CL300 RFWN | SA-105N/SA-234-WPB/SA-106B | 0.600” — UW16.1(c) Shell
10-N6 imm. Heater 1 3*NPS | CL300 RFLWN SA-105N 0.81° — UW16.1(c) Shell
10-N7 LSHH 1 4"NPS | CL300 RFLWN SA-105N 0.875" — UW16.1(c) Shell
10-N8 Lsie 1 4"NPS | CL300 RFLWN SA-105N 0.875" — Uw16.1(c) Shell
10-NOA PDi 1 2"NPS | CL300 RFWN SA-105N/SA-106B 0.343" - UW16.1(c) Shell
10-NOB PDi 1 2°NPS | CL300 RFWN SA-105N/SA-106B 0.343" — UW16.1(c) i Shell
10-N10 Tl 1 2"NPS | CL300 RFWN SA-105N/SA-106B 0.343" - UW16.1{c) Shell
10-N11 TE 1 2"NPS | CL300 RFWN SA-105N/SA-106B - 0.343" — UW186.1(c) Shell
10-N12 Oil Return 1 2NPS | CL300 RFWN SA-105N/SA-106B 0.343" — UW16.1(c) Shell
10-N13 Oil Filt 1 2"NPS | CL300 RFWN SA-105N/SA-106B 0.343" .- Uw16.1(c) Shell
10-N14A LG 1 2"NPS | CL300 RFWN SA-105N/SA-106B 0.343" -— Uw16.1(c) Shell
10-N14B LG 1 2*NPS | CL300 RFWN | SA-105N/SA-234-WPB/SA-106B 0.343" -— UwW16.1(c) Head
10-N15 Drain 1 2*NPS | CL300 RFWN | SA-105N/SA-234-WPB/SA-106B 0.343" — UwW16.1(c) Head
Cerlificate of Authorization:  Type g No. 33,658 Expires November 26, 2011
pate  10ct2010 . Name Enerflex Ltd. Signed \
{Manufacturer) (Rspﬁsenkati\f)—/_/
pate  OCT 04 7010 Name @ g.,Q.aAA,_ Commissions /? LTS ? :
- {Nationat Board {incl. endorsemants), State, Province and Number)

(Authorized Inspecior)



